[ S22ARL ]

EEQO0AEARIE (230 SRS

A2 4 2| 20| LA
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T ouey | §8& | 32
g A 8,534,300| 7,044,613 1,489,687
200 Z2H2|1E 8,534,300| 7,044,613| 1,489,687
230 Q&S 8,025,300| 6,535,391 1,489,909
234 P2E 1,797,000 1,683,826 113,174
401 AldH|2RCHy| 1,797,000| 1,683,826 113,174
01  AlAdH] 1,795,000 1,679,826 115,174
OR|Yale 718 B 100,000,000% x 14| = 100,000
OLRHRE} 2N F271Y E12H2,000m)
100,000,000 x 14| = 100,000
OA|Yaee SHH 2M2|(HE) g4 &2H2,500m)
300,000,0009) x 14| = 300,000
oL Hske| SEVIY 43| 200,000,0008 x 14l = 200,000
Ol 7Y ofxdrd 24 24 600,000,0008 x 14l = 600,000
OR[HASE L5 HMAIN(ER) 150,000,0008 x 141 = 150,000
OYZA|Y H=8 FAWHAIRJ(ER) 300,000,0009 x 14 = 300,000
OLE ASSAAM S2| TH|(ER) 4,000,0009 x 10744 = 40,000
OAMSARSTA otA BHAHSH 2| AxHER)
5,000,000 x 14 = 5,000
03  AlgSyy| 2,000 4,000 2,000
OR|atr ge| o] 2,000,0009 x 1Al = 2,000
235 7|AHRA| 1,300 137,565  A136,265
401 A|dH|LSChH]| 0 133,000  A133,000
01  AlAdH]| 0 133,000  A133,000
405 ApARZISH 1,300 4,565 A3,265
01 ZMUEEZSH| 1,300 4,565 A3,265
OMFUESTY 218 ZH| ZUEY IiE 7U((ER)
1,300,0008 x 14| = 1,300
239 HMIQIAM 6,227,000| 4,714,000 1,513,000
401 A|dH|LLChH| 6,227,000| 4,714,000 1,513,000
01  AlAH]| 4,786,000 4,404,000 382,000
ON2M+E(EAL2E) 8579 SFAL(ED)
1,245,000,0008 x 141 = 1,245,000
Oz 82 M2 g7 SEARN(ER)
1,433,000,000% x 14 = 1,433,000
Oofjzia 2datrle HAZZY T2ARK(ER)
2,108,000,0009 x 14l = 2,108,000
02 ZzH| 1,431,000 300,000 1,131,000
Oof2ME (82 2E) 2579 S-AY AeH|(BR)
895,000,0008 x 1Al = 895,000
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A5 gaey | dE=1 =4
R I off At oH
Oolddrr BF M2 2579 AR Z2H|(ER)
36,000,000¥ x 14l = 36,000
O0j|dat A HIAZEY FEAIRY Z2H[(EXR)
500,000,000% x 14l = 500,000
03 AldEoy| 10,000 10,000 0
OWAYTE(EALEE) a7 A 2o 4,000,000¢ = 4,000
OWdere 87 Me| 2579 YA Fof| 2,000,000 = 2,000
O0j|dat A|EA+r HIAZEY F2AIY 2oy 4,000,0008) = 4,000
270 fsEAdE 459,000 459,000 0
279 VI[EIeSEx|Alst 459,000 459,000 0
611 7|EFS=EayAlsH 459,000 459,000 0
odsdTA R NS 2EF 170% x 2,700,000& = 459,000 459,000 459,000 0
800 OfH|H| 50,000 50,222 N222
801 OfjB|y| 50,000 50,222 N222
801 Ofjb|y| 50,000 50,222 N222
01 eojB|y| 50,000 50,222 N222
OoflH|] 50,000,000% = 50,000




